C:h Finding Product (3 x 3) Name:

Solve each problem. Answers
1) A fundraising company went to 765 different schools delivering 447 boxes of candy to
each school. How many boxes did they deliver total ? 1.
2.
2) A pizzachain uses 346 grams of cheese on their pizzas. If they sold 824 pizzas, how many
grams would they have used? 3.
4,
3) Thereare517 hotelsin ahotel chain. If each hotel has 931 rooms, how many rooms are
there total ? S.
6.
4) A cruise ship compartment can hold 332 pieces of luggage. If aship had 361
compartments, how many pieces of luggage can it hold? 7.
8.
5) A video game company can fit 404 boxes of games into atruck. If they have 150 full
trucks, how many boxes of games do they have total ? 9.
10.

6) A new library received 367 boxes of books with 751 books in each box. How many books
did the library receive total ?

7) Tom was collecting cans for recycling. In 5 months he had collected 336 bags with 807
cans inside each bag. How many cans did he have total ?

8) The booths at the state fair make 554 dollars an hour. How much money would they have
earned after 932 hours?

9) If anindustrial machine could make 770 pencilsin a second, how many pencils would it
have made in 100 seconds?

10) A lawn mowing company had 851 customers. If each customer paid 500 dollars a year,
how much money would they make?
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ﬂh Finding Product (3 x 3) Name. Answer Key

Solve each problem. Answers
1) A fundraising company went to 765 different schools delivering 447 boxes of candy to
each school. How many boxes did they deliver total ? 1. 341,955
2. 285104
2) A pizzachain uses 346 grams of cheese on their pizzas. If they sold 824 pizzas, how many
grams would they have used? 3. 481,327
4. 119,852
3) Thereare517 hotelsin ahotel chain. If each hotel has 931 rooms, how many rooms are
there total ? S. 60,600
6. 275617
4) A cruise ship compartment can hold 332 pieces of luggage. If aship had 361
compartments, how many pieces of luggage can it hold? 7. 271,152
s. 516,328
5) A video game company can fit 404 boxes of games into atruck. If they have 150 full 77 000
trucks, how many boxes of games do they have total ? 9. J
10. 425,500

6) A new library received 367 boxes of books with 751 books in each box. How many books
did the library receive total ?

7) Tom was collecting cans for recycling. In 5 months he had collected 336 bags with 807
cans inside each bag. How many cans did he have total ?

8) The booths at the state fair make 554 dollars an hour. How much money would they have
earned after 932 hours?

9) If anindustrial machine could make 770 pencilsin a second, how many pencils would it
have made in 100 seconds?

10) A lawn mowing company had 851 customers. If each customer paid 500 dollars a year,
how much money would they make?
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C:h Finding Product (3 x 3) Name:

Solve each problem. Answers
275,617 77,000 285,104 119,852 271,152
516,328 341,955 60,600 425,500 481,327 1.

1) A fundraising company went to 765 different schools delivering 447 boxes of candy to

2,
each school. How many boxes did they deliver total ?
3.
2) A pizzachain uses 346 grams of cheese on their pizzas. If they sold 824 pizzas, how many
grams would they have used? 4.
5.
3) Thereare517 hotelsin ahotel chain. If each hotel has 931 rooms, how many rooms are
there total ? 6.
7.
4) A cruise ship compartment can hold 332 pieces of luggage. If a ship had 361
compartments, how many pieces of luggage can it hold? 8.
9.
5) A video game company can fit 404 boxes of games into atruck. If they have 150 full
trucks, how many boxes of games do they have total ? 10

6) A new library received 367 boxes of books with 751 books in each box. How many books
did the library receive total ?

7) Tom was collecting cans for recycling. In 5 months he had collected 336 bags with 807
cansinside each bag. How many cans did he have total ?

8) The booths at the state fair make 554 dollars an hour. How much money would they have
earned after 932 hours?

9) If anindustrial machine could make 770 pencils in a second, how many pencils would it
have made in 100 seconds?

10) A lawn mowing company had 851 customers. If each customer paid 500 dollars ayear,
how much money would they make?
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